MAT 203 : Multivariable Calculus



Here the total amount of fluid passing through surface may be zero, since equal amounts cross from  $\supset \rightarrow \uparrow$ and  $\bigcirc \rightarrow \bigcirc$ .

Sometimes the flux is not zero:



on the other hand, it is tangent IF then it gives no contributer. 1 n 1 1 1 7 1 7

Formula for flux:

Suppose:  $\overline{u} = (P(x,y,z), Q(x,y,z), P(x,y,z))$ Surface:  $S: z = f(x,y) \quad (x,y) \in D \subset IR^2$ or Q(x,y,z) = 0 with Q(x,y,z):= z - f(x,y)Normal vector is in direction of gradient  $\varphi_i$ vector: Normal vector is in direction of gradient  $\varphi_i$ 

not change when  
noving along S,  
afinitesimally, thus  
$$\overline{T} \cdot \nabla Q = 0$$
  
for all tangential  
directions  $\overline{T}$ .

We compute: 
$$\vec{n} = \frac{\nabla q}{|\nabla q|}$$
 when  
 $q = \frac{1}{2} - f(r,q)$   
 $\nabla q = (-f_r, -f_g, ())$   
 $|\nabla q| = (f_r^2 + f_g^2 + 1)$ 

4

 $\bigcirc$ 

Thus

$$\vec{h}(x,y,f(x,y)) = \frac{(-f_{x_{1}} - f_{y_{1}}(1))}{\sqrt{f_{x}^{2} + f_{y}^{2} + 1}}$$

$$\begin{split} \varphi &= \iint \vec{u} \cdot \vec{u} \, dS \\ &= \iint (P_{c} Q_{r} P) \cdot \left( \frac{-f_{x}}{\sqrt{f_{x}^{2} + f_{y}^{2} + f_{y}^{2}$$

$$= \iint \left( P(x_{i}, y_{i}, f(x_{i}y_{i})) \left(-f_{x}\right) + Q(x_{i}, y_{i}, f(x_{i}y_{i})) \left(-f_{y}\right) \right)$$

$$= D + P(x_{i}, y_{i}, f(x_{i}y_{i})) dA$$

Luckily, nusty square roots disappear!



$$\begin{split} \phi &= \iint_{D} (-Pf_{y} - Qf_{y} + P) dA \\ \xrightarrow{P}{D} \quad \overrightarrow{h}(y_{i}y_{i}^{2}) &= (Y_{i}y_{i} - 22) \\ S: &= a (1 - x^{2} - y^{2}) \quad a \in \mathbb{P}. \\ D: & x^{2} + y^{2} \leq 1 \\ Surface is a piece of puraboloid! \\ P &= x, \quad Q = y, \quad P = -22 \\ \xrightarrow{P}{P} \quad \overrightarrow{h} \quad$$

$$\begin{split} \varphi &= \iint \left( 4 a \left( x^{1} + y^{2} \right) - 2a \right) dA \\ &= \iint_{0}^{2\pi} \int \left( 4a r^{2} - 2a \right) r dr d\Theta \\ &= 2\pi \iint_{0}^{1} \left( 4a r^{3} - 2ar \right) dr \\ &= 2\pi \iint_{0}^{1} \left( 4a r^{3} - 2ar \right) dr \\ &= 2\pi \iint_{0}^{1} \left( 4a r^{3} - 2ar \right) dr \\ &= 2\pi \iint_{0}^{1} \left( 4a r^{3} - 2ar \right) dr \\ &= 2\pi \iint_{0}^{1} \left( 4a r^{3} - 2ar \right) dr \\ &= 0 \quad 1 \\$$